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Note: All questions are compulsory.

[5 Marks]
a. Determine the stable matching resulting from the Proposal algorlthm
women proposing, given the preference lists below:

Men (x, y, , w} Women {a.b.c, d)
:a>b>c>d a: z>x>y>w
A>e>b>4qd  p, VWS x >
e>d>asp o, WX >ysg
e>b>asqd 4- X y>zs
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— 2. [5Marks]




3. [5Marks]
Prove or disprove:

a. Every 3-connected graph has connectivity 3

b. Bvery tree T has at most one perfect matching.
4. [5Marks] |

Prove or disprove: %
a. Let G be a graph without isolated vertices, and let S be a minimal dominet in'g. complement of
S is a dominating set. E o, 8

i

b. If x,y are vertices of 2 graph G and xy is not an edge in G, then the m e
the maximum number of pairwise internally disjoint x, y paths, %
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